
 2000 

 2
67

.5
 

 2
55

 
 2

15
 

 1
75

 
 1

17
.5

 

 1
57

.5
 

 1
19

0 

 1
21

0 
 4

00
 

A

20mm

25 x 6mm

40 x 8mm

 Ground Level Optional 390-420mm,
Panel Height: 1200 -1170mm

 1
61

0 

3 slots 
11.5 X 49.50

 1
90

 

 150 

DETAIL A
SCALE 1 : 5

Thickness 3mm

Thrust Plate For         
Strength

NB: Panels supplied with fixings, please order an end fixing bar 55EF01/55EF01B to finish the run.

Fixings Available
Part Code Description Material QTY

5002HS10X30 Hex Bolt Galv. 100
5002HN10 Hex Nut Galv. 100
5002FW10  Washer Galv. 100

Part Code Finish Material
55FP12 Mild Steel HDG

55FP12B Mild Steel HDG PPC Black
55FP12M Mild Steel HDG

55FP12BM Mild Steel HDG PPC Black

DRAWN
CHECKED

DATENAME

Estate Fencing Panel H 1200 x W 2000 mm, c/w Fixings

UNLESS OTHERWISE SPECIFIED 
ALL DIMENSIONS ARE IN MILLIMETERS

DESCRIPTION:

REVISION

DO NOT SCALE DRAWING SCALE: 1:10
A2LT

20/07/2021
12/05/2016

LT
A



E

I

Scale 1 : 20

F

DETAIL E
Scale 1 : 10

 1
20

0 

WireOption

DETAIL F
SCALE 1 : 2

Adjustable Hinged 
Corner
With M10 Eye Bolts

G

SCALE 1 : 1

Corner   
Plan View

Thrust Plate

H

WireOption
SCALE 1 : 5

DETAIL H
SCALE 2 : 5

Wire Option Detail

0702027

DETAIL I
SCALE 1 : 2

Panels Are Fixed Together 
With M10 x 30mm Hex Set 
Bolts BZP, M10 Washer,And
M10 Hex Nut.

NB: Panels supplied with fixings, please order an end fixing bar 55EF01/55EF01B to finish the run.

Parts List For Adjustable Hinged Corner Option (One Corner)

Part Code Description Material
0700104 Adjustable Gate Eye  c/w Nuts BZP

50HS10X35 M10 x 35mm BZP
50HN10 M10 Nut Zinc
50FW10 M10 Washer Zinc

Optional Extras For Added Wire System
Part Code Description Material
040201264 Galvanised Fencing Wire 2.5mm x 25kg Coil Mild Steel Galvanised
040201315 Galvanised Fencing Wire 3.15mm x 25kg Coil Mild Steel Galvanised
0702027 M6 x 152 mm Eye Bolts, c/w Nuts And Washers Mild Steel Galvanised
1301609 Ferrule - Optional Aluminium

Fixings Available
Part Code Description Material QTY

5002HS10X30 Hex Bolt Galv. 100
5002HN10 Hex Nut Galv. 100
5002FW10  Washer Galv. 100

Part Code Finish Material
55FP12 Mild Steel HDG

55FP12B Mild Steel HDG PPC Black
55FP12M Mild Steel HDG

55FP12BM Mild Steel HDG PPC Black

DRAWN
CHECKED

DATENAME

20/07/2021

Estate Fencing Panel H 1200 x W 2000 mm, c/w Fixings

UNLESS OTHERWISE SPECIFIED 
ALL DIMENSIONS ARE IN MILLIMETERS

DESCRIPTION:

REVISION

DO NOT SCALE DRAWING SCALE: 1:10
A2LT 12/05/2016 A

LT


	Sheet1
	Drawing View12
	Drawing View14
	Detail View A (1 : 5)

	Sheet2
	Drawing View22
	Detail View E (1 : 10)
	Drawing View26
	Detail View F (1 : 2)
	Drawing View29
	Detail View G (1 : 1)
	Detail View WireOption (1 : 5)
	Detail View H (2 : 5)
	Detail View I (1 : 2)


